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= e % 1 &0 IR Tk B
I =52 A
N S TIBEHE | gmme | mewEn BN iz
% % % %
3%F g4 T v AARK 1Z| 10. 40 2.0 8.81 —
2 F| 6.00 1.5 5.07 —
3F| 2.98 1.1 2.53 —
458 i VT vy XA 1% 1.77 1.8 10. 38 -
2F| 7.65 1.6 6. 56 —
3F| 3.80 1.3 3.10 —
ERE A o GREt B (I
= e % 1 &0 B AR AT
I =52y A
N I SRFIESS | smme | memEx | SRR i
% % % %
3%F g4 T v AARK 1Z| 8.29 2.0 6.75 —
2 F| 3.89 1.2 3.31 —
3F| 1.95 1.1 1.59 —
458 i VT vy XA 1% 11.54 2.0 9.93 -
2F| 1.47 1.4 6.57 —
3F| 4.50 1.2 3.91 —




H£FBIDESE

71z
ERES ) Geat L fr et
=g E 51X = I8 I AT
I =2 A
N - X ihFaE S spme | AEmEE | EERM iz
% % % %
3%F g4 T v AARK 1Z| 10. 05 1.8 8.69 —
2 F| 5.79 1.4 4.93 —
3F| 2.55 1.1 2. 11 —
458 i VT vy XA 1% 11.55 1.8 10.16 -
2F| 7.53 1.6 6.45 —
3F| 3.93 1.2 3.35 —
ERES 15, GrEtE A
=g E =1 X =B AT
I =52y A
N S bR E S spme | AEmEE | EERM iz
% % % %
3%F g4 T v AARK 1Z| 12. 21 2.0 10.58 —
2 F| 1.28 1.8 5.98 —
3F| 3.19 1.2 2.62 —
458 i VT vy XA 1% 13.52 2.0 11.87 -
2F| 8.80 2.0 71.25 —
3F| 4.28 1.2 3.69 —
ERES 15, et E A
=g E 5 0 X i =R T
IN-T P
. N SRFIESS | smme | menEx | SRR RIEH
% % % %
3%F g4 T v AARK 1Z| 11.34 2.0 10.12 —
2 F| 6.38 2.0 5.27 —
3F| 2.03 1.1 1.77 —
458 i VT vy XA 1% 10.76 1.8 9.74 -
2F| 6. 68 1.6 5.91 —
3F| 2. 71 1.2 2.36 —




H£FBIDESE

zIE
EERFTR % Hhigh HEET B i
TR %2 Xig BIFE B RET
AR | ammx | oene | kEme | aemEs | mRRR | gRy
R AR S RER RERER R R
% % % %
3% g4 Ty RARK 18| 18.44 2.0 17.08 —
2 F| 14.70 1.8 13. 60 —
3%E| 10. 32 1.7 9.37 -
448 A Ty ZAR 1 16. 11 2.0 14.79 -
23 12.17 1.6 11.29 -
3F| 8.35 1.6 7.56 —
HERFTR % Hhiz HRET B AL i
TSR 52X = I R P ) ET
AR | wmmx | oen | kEme | aemEs | mRRR | gRy
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 Ty RARK 18| 12.58 1.8 11.52 —
2 F| 8. 56 1.8 7.59 —
3%E| 4.19 1.3 3.72 -
448 A Ty AAR 1 12.94 1.8 11.88 -
23 9.00 1.6 8.19 -
3F| 5.37 1.3 4.88 —
EERFTR % Hhis HRET B AL i
EIFR %2 Xig = IR IE
AR | mmmx | oee | kEme | aemEs | mRRR | gRy
R IR EEAEE] S RAER REREER R R
% % % %
3% g4 T v RARK 18| 11.58 1.8 10.55 —
2 F| 7.59 1.6 6. 80 —
3%E| 3.71 1.3 3.31 -
448 A Ty AAR 1 11. 41 1.8 10.38 -
23 7.34 1.6 6. 56 -
3F| 3. 56 1.3 3.10 —




H£FBIDESE

71z
ERES ) Giat B pn,
=IEE % o X i =B A
I =2 A
N - X ihFaE S s HHE I E BRI iz
% % % %
3%F g4 T v AARK 1E| 12.97 2.3 11.46 —
2 F| 1.74 1.7 6. 84 —
3F| 4.88 1.1 4.56 —
458 i VT vy XA 1% 15.32 2.0 14.02 -
2F| 11.09 1.6 10.24 —
3F| 71.79 1.3 7.25 —
ERES 15, GrEtE A
=IEE 5 0 X i = I 15 AT
I =52y A
N S SRFIRRS | smme | menEx | SRR RIEH
% % % %
3%F g4 T v AARK 1E| 14. 01 2.7 12.13 —
2 F| 9.34 1.8 8.35 —
3F| 5.05 1.3 4.56 —
458 i VT vy XA 1% 12. 64 2.0 11. 40 -
2F| 8.36 1.8 7.39 —
3F| 4.10 1.3 3.63 —
ERES 15, et E A
=IEE 5 0 X i =S8 T AT
I =52 A
N S SRFIESS | smme | menEx | SRR RIEH
% % % %
3%F g4 T v AARK 1E| 11.01 2.3 9.54 —
2 F| 7.13 1.3 6. 60 —
3F| 4.22 1.2 3.84 —
458 i VT vy XA 1% 13. 67 2.0 12. 41 -
2F| 9.81 1.6 8.98 —
3F| 6.02 1.5 5.38 —




H£FBIDESE

zIE
B RS Hhigh HEET B i
(1 2 X BIBERBEZE

mRn | smmx | 0 | e | AemEs | mEES | EEs

sxpEEns || BEE BEMER £k £k
% % % %
3% A Ty RAAR 18| 1.1 1.6 10. 84 -
2 F| 8.12 1.6 7.32 -
3%E| 4.32 1.3 3.85 -
448 A Ty AR 1% 12.18 2.0 10.95 -
23 7.88 1.6 7.09 -
3F| 3.85 1.3 3.39 -

B RS Hhiz HRET B AL I
=R F2RE =EIEE A 4 FEET

g | osmmx | 0 | e | agmEs | mEES | EEs

sEpaEn s | BEE B EE R R
% % % %
3% A Ty RAAR 18| 9.97 1.8 8.98 -
2 F| 6.10 1.6 5.35 -
3%E| 2.48 1.2 2.13 -
448 A Ty RAAER 1% 10. 61 1.6 9.76 -
23 6. 91 1.6 6.14 -
3F| 3.00 1.3 2.56 -




HEEHDIELE

AA—bra—>
MEREA e Gret B fi s
=IE =1 X —
L 2| A
NN S X HhRIaES £EEE | MEMER BRBH R
% % % %
2% SRS 25| 3.96 2.8 1,85 _
3E| 2.30 1.7 1.25 —
4% 1.45 1.5 0. 66 —
MEREA g, GEt R
=IE = o —
N S X ILFaREIS sEEe | EEmEN BRES R
IR RS A RER REWER EpgR EfgR
% % % %
2%F £HEERAR 2F| 3.63 2.8 1.85 —
3% 2.02 1.7 1.25 —
4 F| 1.19 1.5 0. 66 —
MEREA e Gret B fi st
= 1) F1RXi I8
L 2] A
I - SHFIRAS | smme | memEx | SRR R
% % % %
3%F HigA T v AARK 12| 2. 11 1.1 1.67 —
2 F| 0.18 0.9 0.05 —
3% 0.03 0.9 0.01 —
MEREA g, GrEt B (i s,
=IE o =IE
N gt LB S sEEe | EEmEN BRES R
IR RS A TR REWER EfgR SRS
% % % %
3%F A T RAAR 1Z| 1.93 1.1 1.67 —
2% 0.10 0.9 0.05 —
3E| 0.03 0.9 0.01 —




HEEMDELE

f-FERE
HETR S igi rat B
FIHR %1 RH o
L =y A
BRS I SURIERS | smme | memEx | ERRM RIgs
- = sEmEmEns | | THEE EELTEE R R
% % % %
- iAo Ty RAAR 18| 0.07 0.9 0.03 —
2 F| 0.05 0.9 0.02 -
3%E| 0.03 0.9 0.01 -
HERTRE i, HatE it
Bi5R %2 RH Eler
L 2| A
X5 Bl2Ht i%ﬁ.y” HIE HiFHE MREEE BREH Rix
= = sxmEEns | EEE B E R EpE EpE
% % % %
- g A VT vy AAR 1] 0.07 0.9 0.03 -
23 0.05 0.9 0.02 -
3 &l 0.03 0.9 0.01 -




HEEMDELE

ANEZERS
HMERIRA ) GhEtEfr s
HER % 1R B
L =y A
BRS I SURIERS | smme | memEx | ERRM RIgs
= > sEmEmEns | | THEE BEmER EpEE HpE
% % % %
- g4 T v RARK 18| 0.63 1.0 0.40 —
2| 0.05 0.9 0.02 —
33 0.03 0.9 0.01 —
HERTRA ) HhatE 1 il
ELL) %2 i EIEE
L 2| A
X5 Bl2Ht i%ﬁ.y” HIE HiFHE MREEE BREH Rix
= = sxmEEns | EEE B E R EpE EpE
% % % %
- Mg A Ty AARX 18| 0. 51 1.0 0. 40 -
2 F| 0.05 0.9 0.02 —
3 & 0.03 0.9 0.01 —




A2 (FEFREORIGEZHS L F-his)

H£FEHDER

%
Xl
R¥

HF S i

X

[Ehivl &

efRRAR

B1RE

BT, BT, Omh. NAT, SEh. mE8
M. 2 U0, LHRH. BARN RHARBEV
BBHBOXHE

FE2RE

EMT. BAH., REFBRVESFRORE

9%

g Ty AARX

1R

BT, AH. BEm. DT, SE6. 68
M, 2 UDH., LHREH. BERN. RERBEU
RRBORS;

£ 2 X

ER™T. BAH. REFBRUBEBFHORSE

1058

g Ty AARK

B1RE

BT, BT, BmW. AT, SEH. G
M. U0, LHRH. BARN. RHARBES
BBHBORXHE

%2 X

ERT. BAH. REFBRUBEBFHORSE

b
il

148

efRRAR

B1RE

BET. BT, Omm. N T, SEh. @
M. U0, LHRH. BARN RHARBES
BBHBOXHE

FE2RE

EMT. BAH., REFBRVESFHRORE

FrzAX

F1RE

BT, Bm. Amm. MHm, SEh. 6
M., 2UDH., LHREH. BERN. RERBEU
RHBORS:

%2 R

ERT. BAH. REFBRUVBEBFRORE

—%£7K

B1RE

BT, BT, BEW. S, SEH. w8
M. 2 U0, LHRH. BARN RHARBES
BBHBOXHE

FE2RE

EMT. BAH., REFBRVESFRORE

6%

A Ty AARX

B1RE

BT, BT, BEW. S, S, G
M. 2 VO™, LHRH. BARN RARBES
BBHBOXHE

FE2RE

EMT. BAH., REFBRVESFRORE

78

A Ty AARX

B1RE

BT, BT, Omh. N h, SEh. G
M. U0, LHRH. BARN RHARBES
BBHBOXHE

%2 X

ERT. BAH. REFBRUVBEBFHORSE

8 %8

A Ty AAR

B1RE

BB, B, Hmm. DD, SEh. @5
M. U0, LHRH. BARN. RHARBES
BBHBORXHE

£ 2R

ERE™T. BAH. REFBRUBEBFRORE

NG

iAo Ty AARX

F1RE

BT, B, AW, T, SME. 68
M, 2UDH., LHREH. BERN. REREEU
RRBORS;

%2 X

ERT. BAH. REFBRUBEBFHORSE

WAITA

5%

iAo Ty AARX

F1RE

BT, AWM. Amm. MHm, SEh. 6
M, 2UDH., LHREH. BERN. RERLEU
RRBOXS;

£ 2 X

IERET. BAT. REFBRUBEBFHORSE

b

78

A T AARK

B1RE

BET. BT, Omm. I T, S, @5
M. 2 U0, LHRH. BARN RHARBES
BBHBOXHE

FE2RE

EMT. BAH., REFBRUVESFHRORE

F1RE

BT, Am. BEm. DT, SE6. 68
M, 2UOH., LHREH. BERN. RERBEU
RRBORS;

%2 X

T, BAH. REFBRUVBESFRORSE




BT, #Em. BEm. MM, BREH, R

ziE 3E | MEAUTusRAR | BIRE |, xU0H. LERS. BERN. RERBRV
RHBORS;
FoRE |EMT. BAT. RAFBRUEEEBORE
BT, AWM. BEm. DR, BRI, B
4 | MEALUFYoRAR | FIRE |, xUOH. LHRH. BHEEHR. RERBES
RBEBORE
HoRE |[EEH. BAH. REHBRUEEHBORE
BT, AT, B, ARG, BT, B
Zf—ka— 2% SlagAR B1RE |, 2UOH. LERED. BERE. RERBRU
RRBORS;
HoRE |[E@H. BAH. REHBRUEEHBORE
BT, #WH. BEm. DR, BRI, B
38 | MEAUFysRAR | BIRE |W. UOH. LERH. BHEEHR. RERBES
RBEBORE
FoRE |EEH. BAH. REHBRUEEHBORS
‘ BT, BV, DR, MG, BEh. B
rEh¥ - A LTy RAR | BIRE |, V0T, LERE. BERR. RERLEU
RHBORS;
FoRE |EMT. BAT. RAFBRUTEESEBORE
s BT, B, HEm. D, BT, 6
MES - A LTy RAR | BIRE |, 2UOH. LERED. BEER. RERERV

RZEMDRIE

£ 2 X

T, BAH. REFBRUBEBFHORSE
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